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1- Choose the correct answer. (12x1=12) _ujﬁ,/]l);fﬁvu‘fg/u -1
L Atomic mass of calcium is 40 and barium is 137. What Jtu(v:{fr;&wéjyél}é/uﬂ_137%,:./,1940“_@((5‘5 1
whould be the atomic mass of strontium according to Gurl
dobriners triads?
40 (D) 98 (O) 88 (B) 78 (A)
2. Which is not noble gas? ?‘gduﬁfdigu/ 2
Argon ¢.7 (D) Neon st (C)  Hydrogen .2, (B) Helium (;?4 (A)
3. Atomic number of Cesium is: _9rn/u€lKéX 3
85 (D) 75 (O) 65 (B) 55 (A)
4. No. of elements in second period is: il u""’f&!u:,‘%g/u 4
2 (D) 18 (O) 8 (B) 32 (A)
5. Electron affinity of Flourine is: -< &?w/«?u{@ﬁ S
-325 kJ/mole (D) -330 kJ/mole (C) -329 kJ/mole (B) -328 kJ/mole (A)
6.  Long form of periodic table is constructed on the basis eSS STkl 6
of:
Atomic Number #_({s (B) Mass Number s, (A)
Principle of Mendleev J,%_s/i» (D) Atomic Mass i1 (C)
7. The atomic radius of carbon atom in pm is: L bn Ut 'pml U2 L kU I 6 7
97 (D) 87 (O 77 (B) 67 (A)
8. lonization of energy of Sodium is: _+&juﬁirg7Jﬂ§y 8
496 kJmol ' (D) 419 kJmol™t () 430 kJmol ! (B) 337kJmol™! (p)
9. The electronegativity of nitrogen is: _‘g&&;{@,;gd‘ﬁ/u 9
5.(D) 4 (O 3°(B) 2 (A
10.  Which one of the following Halogen has highest ?+,;gj;q&}g€$,}glJu?)erLutJ5@/) 10
electronegativity?
Fluorine Qg,l? (D) Chlorin QJ,K (@) Bromine %,, (B) lodine LiFT (A
1. The atomic Radii of the elements in periodic table: :Jg,ﬂuéfvgfﬁﬂw 11
Do not change from left to right in a period _2 s fx Sise S Uti st (A)
Decrease from top to bottom in a group _w&n{éc{'}lu:v}/b,g (B)
Increase from left to right in a period _ugag‘)ﬂ,éujuﬁ;:%,g ©
Increase from top to bottom ina group _ ze 45 = it s/ i (D)
12. " Point out the correct statement about electron affinity: _é@;wgfg:g;/u‘}k’?i&giui}gl 12
It involves absorption of energy o rw 151 (B) It is measured in kg/mol +J@Jdﬁ kg/mol Fedur (A)
It increases in group c‘_(}m,k;u:h’,,/;, (D) It decreases in period CL-&%{JJ’%:’ ©
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(Part-1 -Jsl..«)
2- Answer the short questions. (5x2=10) _;J,L,,gfz?ggm,d;z,,, 2
i What is general electronic configuration of halogen and ?‘Lgﬁﬂj,;ﬁouJﬁJﬁﬁ)ﬁmﬁfJ} .
family and nobel gases?
ii.  Define periodic law and periodic table. LSS S pa Sy A
iii.  Define Mosely periodic law. S NSkl i
iv.  What is meant by Periodic function? ?9;’/g¢f@ﬂw v
V. Why Lanthanides an Actinides are placed separately ?L“,ﬂaf/u{.,ﬁé[,ﬁ,@%;@%vu@;t)ﬁ(ulﬁ;’fféwu; v
below periodic table? Explain.
3- Answer the short questions. (5x2=10) _égg‘g AL it -3
i What are the elements arranged in group 3 to 12 ?wz_ufy’/vﬁ’%;?g]utv,/qmgcgﬁ .
called?
id. How periodicity of an Atom depends upon the number 9?/?4/4,,/,30@;,4}3,,%‘;;,0/@;&4 il
of proteon?
iii.  Define electronegativity. Also write its trend in groups _gug.jgwu:;;%,,;ud,f‘,;_q/._gfj&,:‘b@};?; ii
and periods.
iv.  Define Shielding effect. Y N NS
v. Define effective nuclear charge. _g{bg/ju@/tgk{;j}? v
4- Answer the short questions. (5x2=10) _é'@;gg}?‘::@g;,‘j".jel, -4
i Why shielding effect increases down the group? ?%wgu{&1jﬂ;é¢4,luf*;f .
ii. Why the ionization energy of sodium is less them of ?%U{[@ﬁ?&}!ﬁ;b‘{ﬁfﬁb’ A
Magnesium?
iii.  Why it is difficult to remove an electron from Halogens? S U S e gtk il
iv. " Why 2nd ionization energy of an element is higher than ?‘L&nuf,;;kjgu%uzﬂuy’//tffd/u Av
first one?
V. Why sheilding affect of electron makes Cation formation ?%Q,@upfu{[fLz‘;LJyfb»é%ujﬂ;Kuu/bgl v
easy?
(Part-IT -¢:2)
Attempt given long questions. (2x9=18) _éqﬂ}f}’ PP s )

5(a) Give any three/ four salient features of long form

(b)

periodic table.
Write down three salient features of long form of
Periodic Table.

6(a) Justify the statement, bigger size atoms have more

(b)

shielding effect thus low ionization energy.

Define atomic radius. Give its trends in periods and
groups of periodic table.
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